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Enrollment No: _______________________         Exam Seat No:_______________________ 

C. U. SHAH UNIVERSITY 

Summer Examination-2020 

 

Subject Name : Construction Technology 

 

Subject Code : 2TE03CNT1    Branch: Diploma (Civil) 
    

Semester :3         Date:  29/02/2020   Time : 02:30 To 05:30   Marks : 70 
Instructions: 

(1) Use of Programmable calculator & any other electronic instrument is prohibited. 
(2) Instructions written on main answer book are strictly to be obeyed. 

(3) Draw neat diagrams and figures (if necessary) at right places. 
(4) Assume suitable data if needed. 

 
Q-1  Attempt the following questions: (14)  

 a)  Which is a method of underwater concreting 

A)tremie method B)skip box method C)bags method D) all   

1 

 b)  Type of shoring is 
A) raking shore B) flying shore C) dead shore  D) all 

1 

 c)  When the depth of excavation up to 2 m, method of timbering 

use is 

A) vertical sheeting B) box sheeting C)stay bracing D) runners 

1 

 d)  Truck mounted crane is mounted on 
A) steel tyre  B) rubber tyre C) wooden tyre  D) all  

1 

 e)  Which component is the highest in cement? 

a) Aluminum b) Silica c) Iron oxide d) Lime 

1 

 f)  The sand of zone 1 is __. 

a) Coarse b) Medium c) Micro d) Moderate - micro 

1 

 g)  The cement is added ___ to increase the setting time. 

a) gypsum b) calcium chlorine c) aluminum powder d) sugar 

1 

 h)  The sp. Density of  Portland Cement is ____. 

a) 1.15 b) 2.1. c) 1.0 d) 1.5 

1 

 i)  How much water is required for complete hydration of cement  

a) 23% b) 5% c) 5% d) 50% 

1 

 j)  Which of the following is not an excavator? 

a) Bull dozer b) Claim roll c) Scraper d) Dump truck 

1 

 k)  Which tool is more suitable for trench digging for the 

pipeline? 

a) Hoe b) power shovel c) dragline d) none of the above  

1 

 l)  Strength of concrete depends mainly on what. 

a) Course Aggregate b) Water-cement ratio c) Cement fineness 

1 
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d) All 
 m)  What is Creasing? 

a) Strike in time           b) Strike in resources 

c) Expenditure in cost  d) Expenditure on project size 

1 

 n)  Which tool is best suited for digging into hard stones? 

a) Drag line b) Power shovel c) Claim roll d) Hoe  

1 

Attempt any four questions from Q-2 to Q-8 

Q-2  Attempt all questions (14) 
 (A) List out various types of drifter and also explain any one in 

details. 

7 

 (B) Write the comparison between pre-cast and cast-in situ 

concrete construction. 

7 

Q-3  Attempt all questions (14) 
 (A) Explain component part of well point system. 7 

 (B) A concrete mixture was purchased at the cost of 65000 

assuming salvage value to be 15 % of the original cost & life 

of machine is 20 years calculate depreciation after 15 year 

using sinking fund method. The rate of interest for its value is 

6 %. 

7 

Q-4  Attempt all questions (14) 
 (A) Explain various methods of timbering to trenches. 7 

 (B) Explain method pre-stressing of concrete member. 7 

Q-5  Attempt all questions (14) 
 (A) Explain double scaffolding with neat sketch. 7 

 (B) Explain various methods of estimating of depreciation. 7 

Q-6  Attempt all questions (14) 

 (A) Write a note on “formwork”. 7 

 (B) Explain in detail batcher, mixer and batching plant. 7 

Q-7  Attempt all questions (14) 

 (A) Explain member connection for column-beams. 7 

 (B) Explain shuttering for beam and slab with details and also 

draw neat sketch. 

7 

Q-8  Attempt all questions (14) 
 (A) State all the uses of cranes and describe in details. 7 

 (B) Enlist different types of shoring and explain “flying shore” 

with neat sketch. 

7 
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Q-1  Attempt the following questions: (14)  

 a)  જે ઩ાણીની અંદય ક્રોનકરયટ કયલાની એક ઩દ્ધતિ છે 

a) ટે્રભી ભેથડ b) સ્કક઩ ફોક્વ ભેથડ c) ફેગ ભેથડ d) ફધા 

1 

 b)  ળોરયિંગનો પ્રકાય છે 

a) યેરકિંગ ળોય  b) ફ્રાઇંગ ળોય c) ડેડ ળોય d) ફધાાં 

1 

 c)  જ્માયે 2 ભીટય સધુીની ખોદકાભની ઉંડાઈ, રાકડાનો ઉ઩મોગ કયલાની 
઩દ્ધતિ છે 

a) ઉબી ળીરટિંગ b) ફોક્વ ળીટીંગ c) કટે બ્રેવીંગ d) યનવસ  

1 

 d)  ટ્રક ભાઉન્ટ થમેર કે્રન ___઩ય  રગાલેરી છે 

a) કટીર ટામય b) યફય ટામય c) રાકડાના ટામય d) ફધા 

1 

 e)  તવભેન્ટ ભાાં કમો ઘટક વૌથી લધાયે શોમ છે. 
a)અલ્ુાંભીના b)તવલરકા c)આમનસ ઓક્વાઈડ d)ચનૂો  

1 

 f)  ઝોન 1 ની યેિી __ શોમ છે.  
a)કથ઱ૂ     b) ભધ્મભ    c)સકુ્ષ્ભ     d)ભધ્મભ- સકુ્ષ્ભ 

1 

 g)  તવભેન્ટ નો વેરટિંગ ટાઇભ લધાયલા િેભાાં ___ ઉભેયલાભાાં આલે છે. 
a)જીપ્વભ b)કેલ્લળમભ ક્રોયીન c)એલ્ભુીન ઩ાલડય d)ખાાંડ   

1 

 h)  ઩ોટસરેન્ડ તવભેન્ટ ની તલ.ધનિા ____શોમ છે. 
a) 1.15 b) 2.1. c) 1.0 d) 1.5  

1 

 i)  તવભેન્ટ ના વાં઩ણૂસ શામડ્રે઴ણ ભાટે કેટલુાં ઩ાણી જરૂયી છે. 
a)23%   b) ૩૮%    c) ૪૫%    d) 50% 

1 

 j)  નીચ ેના ભાાંથી ક્ુાં ભાટી ખોદલાનુાં મ ાંત્ર નથી. 
a)બરુ ડોઝય b)ક્રેભ યોર c)કકે્ર઩ય d)ડમ્઩ ટ્રક  

1 

 k)  ઩ાઈ઩રાઈન ભાટે ની ટે્રન્ચ ખોદલા ક્ુાં વાધન લધ ુઅનકુુ઱ છે. 
a) શોઈ b) ઩ાલય ળોલેર c) ડ્રેગરાઈન d) એક ઩ણ નઈ  

1 

 l)  કટે્રન્થ ઓપ ક્રોંકયીટ મખુ્મત્લે ળેના ઩ય આધારયિ છે. 
a)કોવસ એગ્રીગેટ b) લોટય-તવભેન્ટ યેતળમો c)તવભેન્ટ ની પાઈનેળ d) ફધા   

1 

 m)  કે્રતવિંગ એટરે ? 

a)વભમ ભાાં ધટાડો કયલો b) વાંળાધનો ભાાં ધડો કયલો  
c)ખચસ ભાાં ધટાડો કયલો   d)પ્રોજેક્ટ વાઈઝ ભાાં ધટાડો કયલો  

1 

 n)  વખિ ઩ત્થય ભાાં ખોદાન કયલા ભાટે ક્ુાં વાધન અનકુુ઱ છે. 1 
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a) ડ્રેગ રાઈન   b) ઩ાલેય ળોલેર     c) ક્રેભ યોર  d)શો   
Attempt any four questions from Q-2 to Q-8 

Q-2  Attempt all questions (14) 

 (A) તલતલધ પ્રકાયનાાં રડ્રફ્ટયની સલૂચ ફનાલો અને કોઈ઩ણ એકને  તલગિોભાાં 
વભજાલો. 

7 

 (B) ઩લૂસ-કાકટ અને કાકટ-ઇન વીટુ કોંરક્રટ ફાાંધકાભ લચ્ચેની તરુના રખો. 7 

Q-3  Attempt all questions (14) 
 (A) લેર ઩ોઇન્ટ તવકટભનો ઘટક બાગ વભજાલો. 7 

 (B) મ઱ૂ રકિંભિના 15% શોલાનુાં ભાનીને ફચાલ મલૂમ 65000 ની રકિંભિ ેકોંરક્રટ 
તભશ્રણ ખયીદલાભાાં આવ્ુાં શત ુાં અને ભળીનનુાં જીલન 20 લ઴સ ડફૂિી બાંડો઱ 
઩દ્ધતિનો ઉ઩મોગ કયીને 15 લ઴સ ઩છી અલમલૂમન ગણિયી છે. િેના મલૂમ 
ભાટેના વમાજના દય 6% છે. 

7 

Q-4  Attempt all questions (14) 

 (A) ખાઈને રાકડા ભાાં નાખલાની તલતલધ ઩ધ્ધતિઓ વભજાલો. 7 

 (B) કોંરક્રટ વભ્મની ઩લૂસ-િાણની ઩દ્ધતિ વભજાલો. 7 

Q-5  Attempt all questions (14) 

 (A) સઘુડ કકેચ વાથે ડફર ઩ારખ વભજાલો. 7 

 (B) અલમલૂમનનો અંદાજ રગાલલાની તલતલધ ઩દ્ધતિઓ વભજાલો. 7 

Q-6  Attempt all questions (14) 

 (A) "પોભસલકસ" ઩ય ટૂાંકી નોંધ રખો. 7 

 (B) તલગિલાય ફેચય, તભક્વય અને ફેલચિંગ પ્રાન્ટભાાં વભજાલો. 7 

Q-7  Attempt all questions (14) 

 (A) કોરભ-ફીભ ભાટે વભ્મ કનેક્ળન વભજાલો. 7 

 (B) તલગિો વાથે ફીભ અને કરેફ ભાટે ળટરયિંગ વભજાલો અને સઘુડ કકેચ ઩ણ 

દોયો. 

7 

Q-8  Attempt all questions (14) 
 (A) કે્રન્વના િભાભ ઉ઩મોગો જણાલો અને તલગિોભાાં લણસલો. 7 

 (B) તલતલધ પ્રકાયના ળોરયિંગ્વની સલૂચ ફનાલો અને સઘુડ કકેચ વાથે "ફ્રાઇંગ 
ળોય" વભજાલો. 

7 

 


